P-1I (1+1+1) G /20 (N) SUP
2020

POLITICAL SCIENCE (General)

Paper Code : II - A & B
[New Syllabus]

(Supplementary)

Subject Code :

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

111

A

&

B

in the Answer Script.

Example — If alternative A of 1 is correct, then write :

1. — A

® There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 50 Time : One Hour
Choose the correct answer.

Each question carries 2 marks.

1. Who is the father of nationalism of Italy?
(A) Mazzini
(B) Mussolini
(C) Garibaldi
(D) Machiavelli

31 (P BT GISRORITE & ?
INRINEID]
(B) Jeifes
(C) anfzafe
(D) snifsTe e
2. Who advocated the theory of “Surplus Value?
(A) Lenin
(B) Karl Marx
(C) David Easton
(D) Hegel
3| “TgE ETRT G (F SREHT FCE?
(A) s
(B) el S
(C) (ofeT THa
(D) c=earet
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3. Bi-party system is present in —
(A) China
(B) USA
(C) India
(D) None of these

© | @R I IS R ?
(A) oIl
(B) S
(C) e
(D) AR 7
4. How many chambers are there in British Parliament?
(A) One
(B) Two
(C) Three
(D) Four
8 | fafoxl ofeficess =3 w2
A) >
(B) 2
(€) ©
(D) 8
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5. Dictatorship of the Proletariat is one of the concept of —
(A) Karl Marx
(B) Lenin
(C) Hobbes
(D) Laski

¢ | TR GFNTFecEd R’ —
(A) JT 57
(B) caifa
(©) =™
(D) =%
6. How many chambers are there in the US parliament?
(A) One
(B) Two
(C) Three
(D) Four
v | MEF SE Ao FAG 562
(A) >
(B) 2
(€) ©
(D) 8
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7. Name of US parliament —
(A) Congress
(B) Duma
(C) Parliament

(D) Speaker

q | NPT Sz 9 [F 2
(A) e
(B) =
(C) siefitrs
(D) fipta

8. The numbers of jurisdiction Indian Supreme Court are —
(A) One
(B) Five
(C) Four
(D) Three

b | ORICed ARNCRIHA AT a1l 2
(A) @3
B) vl
(C) vi=fe
(D) feae
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9. Highest Appellate court in India is —
(A) Supreme court
(B) District court
(C) High court
(D) None of the above

> | SRSR A SN ST I ?
(A) D
(B) (S@ SMieTS
(C) RS
(D) (@A w7

10. Members of Election Commission of India are appointed by —
(A) Parliament
(B) President
(C) Prime Minister
(D) None of the above

so | ORISR b FhRMICT e feael e 2
(A) AT
(B) i@+
(C) eierrEl
(D) (FICAME T
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11. Prime Minister of India is the leader of —
(A) Lok Sabha
(B) Rajya Sabha
(C) UNO
(D) Opposition party
5 | SRS YYTE (O] 2 2
(A) CeTiTel
(B) sl
(C) UNO
(D) (FICTZ T
12. Name of a Regional Party among the following —
(A) BJP
(B) Congress
(C) Shiv Sena
(D) None of the above

53| ORICS Sieferr we 2o —
(A) facet
(B) <02
(C) MR
(D) @A T
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13. Tenure of US President is —
(A) 4 years
(B) 5 years
(C) 6 years
(D) 3 years

so | WP AFsifon BT Gram —
(A) BT =7
(B) A =
(C) = =
(D) for1 =7
14. Tenure of Prime Minister of Britain is —
(A) 4 years
(B) 5 years
(C) 6 years
(D) 7 years

58 | b g SRR R —
(A) BIF I=F
(B) b =3
(C) =5 =7
(D) >Tre =g
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15. How many members are there in the US Senate?
(A) 100
(B) 200
(C) 300
(D) 150

S | PCIha 3o 7R Fo
(A) 00
(B) k00
(C) woo
(D) s>eo
16. Who appointed the judges of Supreme Court of India?
(A) Chief Minister
(B) Speaker
(C) President
(D) Governor

G e

YU | SIS FARNCHIET [pleiferm & Weae sEa?
(A) Jg
(B) fipla
(C) =gsife
(D) =reetst
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17. Judges of High Court are appointed by the —
(A) Prime Minister
(B) Governor
(C) President
(D) Chief Minister

4| BERIHA ReReifers & e w62
(A) gt
(B) SreyileT
(C) Fig+ife
(D) &
18. Age of retirement of the judges of the Supreme Court of India —
(A) 60 years
(B) 62 years
(C) 65 years
(D) 70 years

St | OO IESCRICHS RolFsifoms Soies Tz@1 2

(A) vo 7=
(B) v: =Y
(C) v =27
(D) a0 =T
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19. How many tiers are there in Panchayat System is West Bengal?
(A) Four
(B) Three
(C) Seven

(D) One

S5 | ARG 2T [T TG B2
(A) st
(B) f6
(C) af6
(D) >
20. Tenure of Panchayat Samity in West Bengal —
(A) 5 years
(B) 4 years
(C) 3 years
(D) 2 years

30| ARG AIS Al PR R —
(A) ¢ I
(B) 8 T=g
(C) © =
D) =7
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21. “State is the machine of class exploitation.” — who said this?
(A) Lenin
(B) Plato
(C) Green
(D) Hobbes

1A fd e 987 — (F AR ?
(A)
(B) (2O
(C) fam
(D) =91
22. Who wrote the book ‘Das Capital’?
(A) M. K. Gandhi
(B) Lenin
(C) Marx
(D) Gramsci

‘Das Capital’ (& foT0aC%e ?
(A) =il AR
(B) c1fm
(C) w=FA
(D) 2

2R
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23. How many provinces (state) are there in the USA?
(A) 50
(B) 60
(C) 80
(D) 100

0| N e Fofer SErey oie ?
(A) @oft
(B) vofs
(C) vofb
(D) sooft
24. How many chambers are there in the Chinese Legislature?
(A) 1
(B) 2
© 3
(D) 4

38 | ot =iz T 0 F% =R ?
A) >
B) 3
(C) o
(D) s
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25. In which year 42nd Amendment Act of the Indian Constitution was passed?
(A) 1947
(B) 1952
(C) 1976
(D) 2000

3¢ | SRS MR 83O FR{HIA F© ICE 2R 2
(A) >»84a Al
B) S»e Al
(C) 5% Al
(D) 2000 e
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P-1I (1+1+1) G/ 20 (N)SUP
2020

POLITICAL SCIENCE (General)

Paper Code : II - B
[New Syllabus]
(Supplementary)

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.
Group-A
Answer any six questions, taking at least fwo from each half.  15x6=90

First Half

. What is Globalization? What are its effects on Third World Countries? 5+10

. Ciritically discuss the Marxist theory of Revolution. 15
. What is an Interest Group? Discuss its functions? 5+10
. Discuss the role of political party. 15
Second Half

. Discuss the nature of Political Party System in the USA and show it’s difference
with that of UK. 10+5

. Evaluate the role of the communist party in the constitutional system in China.
15
. Discuss the salient features of the American Constitution. 15

. How is the prime minister of Great Britain appointed? Discuss the powers,
functions and role of the Prime Minister of Great Britain. 5+10
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Third Half

9. Discuss the composition, functions and role of the High Court in a state of
India. 15
10. What do you mean by politics of Reservation? Give an argument for and
against the politics of Reservation? 5+10
11. Write a note on the structure, functions and powers of the Panchayats under
the new Panchayati Raj system in West Bengal. 15
12. Discuss the composition and function of the Election Commission of India. 15
Group-B
13. Write short notes on any two of the flowing : 5x2=10
(a) Meaning of Revolution.
(b) Zilla Parishad in West Bengal.
(¢) Judicial Activism in India.
(d) Article 368.
IHAIW
frem -=
ArerF O (A0 q6 o MR @ (@Al =1 A0 Ted wie |
SEXVv=p0
ey
> | R 57 pOR RS (MR 7 @7 el 6 2 @t+s0
3| 92 FitF AT g ANCEADAT A2 AL 34| Se
o | LD T2 97 FRE SACHAGA T4 @+s0

Page : 17 of 18



8 | AGASF WoT-ae Bl ST 4 | NG

sty
¢ | NFET ESANET AGCAfeT Wel TIEE 4TS SCEbal 9 G ISANE
VEITES -G 2N (G | So+e
v | o e R SRefEs #ifba sEmrm <= NG
a | REF TR @ SN 9| NG

v | R0 2aiaaEl feita e 272 O el @ smainl SeEbal S0 ¢+d0

woray

>

SRS (I ST NRIGHEFACR 910w, IR @ S S I Se

S0

AR AGHI® FeT0e Pl & @[Rl? AT AGaifon #itF ¢ [Roew I
nie | @+so

S | ARG TG AITS AT ST A5, ol @ I Toig il
T2 | se

33 | ORI o FRHT 5197 ¢ T SN 54 | S@
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GOREESERCRE
() (ol ifzam
(o) fvim fedin Al
(9) 4= outr
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